jsuniltutorial.weebly.com
Social Science Summative Assessment - II (SA 2 - Term Il Examination)

Social Science

Class X

Time allowed: 3 hours Maximum Marks: 80
General Instructions:

1. The question paper has 36 questions in all. All questions are compulsory.

2. Marks are indicated against each question.

3. Questions from serial number 1-16 are multiple choice questions (MCQs) of 1 mark each. Every MCQ is
provided with four alternatives. Write the correct alternative in your answer book.

4. Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions should not
exceed 80 words each

5. Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions should not
exceed 100 words each

6. Question number 35 is a map question of 2 marks from History and Question number 36 is a map
question of 3 marks from Geography.

Q1. German parliament was dominated by

a) Peasants b) Workers c) Industrialist d) Middle Class  OR

The indo-china rail network was completed in

a) 1915 b) 1910 c¢) 1918 d) 1920

Q2. Where was Napoleon finally defeated?

a) Water-loo (1815) b) Bosnia-Herzegovina (1820)

¢) Paris (1817) d) Austria Hungary (1818)

OR

Aim of Hao Hao movement was

a) To over-throw b) To bring social reform c¢) To industrialize Vietnam d) All the above

Q3. The resolution of Poona Swaraj was adopted at which session:

a) Karachi Session b) Haripur Session

c) Lahore session d) Luck now Session

Q4. Eight lotous on Swadeshi flag means

a) Hindu-Muslim unity b) Eight provinces c) Eight community d) Eight leaders

Q5. Monazite sand contains

a) Oil b) Uranium c) Thorium d) Coal

Q6. The sparkle in some toothpaste is due to the presence of

a) Fluorine b) Calcium

c) Silica d) Mica
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Q7. Infrastructure core industry is commonly known as

a) Cement Industry b) Aluminium Industry

c) Iron and steel Industry d) Electronics Industry

Q8. Golden quadrilateral super highways are built by

a) CPWD b) PWD c) NHAI d) BRO

Q9. The protest against water privatezation in Bolivia’s water war was led by
a) FEDECOR b) BAMCEF c) NAPM d) none of them

Q10. Who accepted transition from absolute monarchy to constitutional monarchy?
a) King Gyanendra b) King Birendra c) Girija Prasad Kariala d) king Bijendra
Q11. Akali dal of Punjabis a

a) National Party b) Recognized political Party

¢) Regional Party d) Multi-Party

Q12. Keeping Military away from the govt. is an example of

a) Challenge of Expansion b) Foundational Challenge

¢) Challenge of muscle power d) Deepening Challenge

Q13. Who issues coins in India?

a) RBI b) Central Govt. ¢) State govt. d) Governer

Q14. Usually bank deep % of total deposit or cash

a) 10% b) 15% b) 20% d) 5%

Q15. Us farmers can sell their form products at very low price due to:

a) High subsidy b) High competition

¢) Low subsidy d) New Technology

Q16. Codex Alimentanous commission certifies

a) Food Products b) Cars c¢) Medicines d) Crackers

Q17. What do you about the peace conference of Paris?

OR

What are the reasons for the fall of Frankfurt parliament?

Q18. Why is Satyagraha not to be classified as passive resistance according to Gandhiji?

Q19. Name four types of iron-ore found in India and write at least two points each for the two best quality
ore.

Q20. List four factors when favored the location and concentration of cotton textile industry in Maharashtra
and

Guijarat in early years.
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Q21. Write the contribution and present growth rate of manufacturing sector in the in the national

economy. Suggest

two measures to increase the national growth rate.

Q22. How the sectional interest groups play a value role? Give any three points
Q23. What is the importance of cost of time in decision making?

Q24. Give any three arguments to access democracy outcome?

Q25. Describe the expanded scope of democracy in modern world.

Q26. What was the development strategy adopted prior to 1991 in India?

Q27. Give any three reason for the need of new economic policy

Q28. Explain any three measures to protect the right of consumers.

Q29. Explain three strategies adopted by the govt. to protect the interest of consumers with reference to
CPA of

1996.

Q30. Mention any four factors of comparison of Cavour and Bismarck.

OR

Explain any four features of scholars’ revolt in 1868 in Vietnam.

Q31. Analyze the role played by the icons/ symbols in unifying the people of India?
Q32. Discuss the socio-economic significance of transport and communication.
Q33. In what ways do political parties provide people access to government machinery? Explain
Q34. Why credit is important for development. Give any three points

Q35. Locate the places:

a) Where calling off NCM took place

b) Where CDM started

Q36. Locate and label the following in the same map.

a) Kudremukh iron ore mine

b) Bokaro coal mine

c) Kalol oil field

MCQ Ans: Q1. d ORDb

Q2. a ORD
Q3.c Q4 b Q5. ¢ Q6. d Q7.a Q8 c Q9 a Q10.b Qll. c
Ql2. b Q13. b Q14 b Q15. ¢ Ql6. a
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